K4 HKREKHR R OCKERED T

A ER T RE BEHE
BE ERREHA BRAHR AKRBEDH & ARRBEZES
(mg/L) (mg/L) (E/4)
1 |— e 100/ /ml 0 12
A*B*C*D*E*F*G*H
ESRNPS T ] THR BRHLZG 12
#3 | IFITLRVZOLE W 0.01 0.001 1
4 | KBRUOEO(LED 0.0005 0.00005 1
#5 | ELVRUEDILED 0.01 0.001 1
6 (SRR UED(LED 0.01 0.001 1
£ |[eREVEOLLAH 0.01 0.001 1
8 | Affiznsibdm 0.05 0.005 1
H#o |EMEREER 0.04 0.004 1
10 [>T AL RO TV 0.01 0.001 4
1l WHREBERXCEHRBER 10 0.02 1
12 [7oRRVUEO(LED 0.8 0.05 1
13 [FYRECZO/LAD 1.0 0.01 1
#14 |\mmLRE 0.002 0.0002 1
®15 |1, 4-VFFHv 0.05 0.005 1
A1, 2-VrunzFLURR
#16 0.04 0.001 1
MV A—1, 2—-V/unzFLyv

E-SYARPZ4=3=30 4 0.02 0.001 1 A*D*E*F*G*H
218 |Fr7/mnFL 0.01 0.001 1
#19 |NWrunzFLv 0.01 0.001 1
#20 |[(RvEv 0.01 0.001 1
H21 ERER 0.6 0.06 4
#22 | /munEEER 0.02 0.002 4
H23 |rmmia s 0.06 0.001 4
224 |V/unfFiR 0.03 0.004 4
P91 4=E =13 §7 0.1 0.001 4
#26 |RRER 0.01 0.001 4 ol RUERARRE L7 —fE
27 RN AmRE 0.1 0.001 4
#28 (FN/mnEEER 0.03 0.004 4
H29 |[SmETrunipy 0.03 0.001 4
H#30 |IeERVL 0.09 0.001 4
#31 [ FAVATAFER 0.08 0.001 4
#32 [EREVCEOILED 1.0 0.005 1
#33 [TAR=YARCGZOILAD 0.2 0.01 1~4 A*D*E*F+*G*H
34 (RO EOLAH 0.3 0.005 1
35 (R VEOLAH 1.0 0.005 1

A*D*E*F*G*H
#36 |[TNYIRUED(LAH 200 1 1
#3717 |RVHVRUOEDILED 0.05 0.001 1
#38 ik rEv 200 0.2 12 A*B*C*D*E*F*G*H
39 (WNVT b S RUY L% (BE) 300 5 1~4

A*D*E*F+G*H
40 | KEREW 500 1 1~4
41 B REE R 0.2 0.02 1
#42 V=RV 0.00001 0.000001 FAERMCA LR
43 2 AFNAAYRARE— 0.00001 0.000001 FAERMCA LR A+*D*E*F*G*H
44 | FAF U REEEA 0.02 0.005 1
HAs | T=)—NVE 0.005 0.005 1
H46 | HHH (EFRRR(TOC)DR) 3 0.2 12
HA7 |pHfE 5.8~8.6 0.1 12
#48 [Bk RE TRV RE2L 12
#49 |BRK RE TRV RE2L 12
H50 | []::4 1 12 A*B*C*D*E*F*G*H
#51 (BB 28 0.1 12
#1 | AETRY 366
#2 |y BRETRL 366 HEKRE
#3 |IHEORFAYR 0.120 E 366

Y REOFIZEIROBRELLET,




#5 JFAKEAMRZOCKERED T

WALWE | ERTRE W
&5 EHREERE BAHR KEREDHE KRERERIESE
(mg/L) (mg/L) (B £8)
1 |\ 100/& /ml 0 1~12 [-J*K-L*M*N
2 | KEBE R B LA 1~12 0+P+Q*R-S
3 | HRIVARVEDLAEY 0.01 0.001 1
4 | ABRRTEDOLEY 0.0005 0.00005 1
5 | ELVRUEDLLEY 0.01 0.001 1
6 (SRR UEDLLEY 0.01 0.001 1
T eRROEDLAY 0.01 0.001 1
#8 | Alizesbe 0.05 0.005 1
X9 |HEMRREER 0.04 0.004 1
10 ¥ T A AV R UL TV 0.01 0.001 1
11 |HBEZERROHEMNEEER 10 0.02 1
12 |7yREOEDLEY 0.8 0.05 1 [-J*K-L*M*N
13 |FURKOZEDOLEY 1.0 0.01 1 O°-P-Q°R*S
14 |HE(LRR 0.002 0.0002 1
15 |1, 4—V4FHY 0.05 0.005 1
YA—1, 2—YraRzF LY RN
#16 0.04 0.001 1
rFr2—1, 2—VrauFL v
17 |Yranrzy 0.02 0.001 1
18 |F+F/un=FLv 0.01 0.001 1
#19 |NZupzFLrv 0.01 0.001 1
20 |(RyBY 0.01 0.001 1
21 R 0.6 0.06 —
22 |/onEERE 0.02 0.002 —
223 (rmubL A 0.06 0.001 —
#24 \V/noErRg 0.03 0.004 —
#25 |[UTaEs/ROAZY 0.1 0.001 —
26 RFEM 0.01 0.001 — = RERBARE S
#27 (BRI~ mAZY 0.1 0.001 —
#28 |F7unEER 0.03 0.004 —
29 |FmETruarir 0.03 0.001 —
#30 |FREHVL 0.09 0.001 —
#31 |FVATATER 0.08 0.001 —
32 |EHEOZEDLEY 1.0 0.005 1
33 | TAI=VLRTEDLE 0.2 0.01 1
X34 |\ BERTEDOLED 0.3 0.005 1 [-J*K-L*M*N
X35 |HERTEDOLEY 1.0 0.005 1 O°-P-Q°R*S
#36 |TRIVARTEDLEH 200 1 1
3T |RUHVROBEDLAY 0.05 0.001 1
38 MWL A4Y 200 0.2 1~12 1-]*K-L+M+N-Q-P+Q-R"§
39 | INVT LT FVYLE () 300 5 1
40 | BBRED 500 1 1
41 |BAZVREEEA 0.2 0.02 1
E42 |[UnART 0.00001 0.000001 — Ié‘?égsN
43 | 2—AFNAYRAVFTA—N 0.00001 0.000001 —
44 FEAAVREBREA 0.02 0.005 1
45 |7z /)—NVER 0.005 0.005 1
46 | HHEY (LB BRF(TOC)D &) 3 0.2 1~12 [-J*K-L*M*N
#47 |pHfE 5.8~8.6 0.1/ M 1~12 O°+P-Q°R"S
#48 |3k BEchn Byl =
#49 |BR BEchn Byl 1~12
#50 |@e 58 1 1~12 gk
#£51 |BE 28 0.1 1~12

% FRFEON-0-Q-SiFEIEDBRELLET,




x6 XNEEHHERECHB AR OKERED T

&% 5 & RoR W ERTRE L BAHE | kEREOWE ARBEER S
(mg/L) (mg/L) (B1/48)
TUFELORICHLT
Ol |7V FEVRUEDLAW 0.0001 1
0.02
IS DRIZELT
B02 [YFVRUBED(LEH 0.0001 1
0.002 (1 x&)
=7 NVORICELT A-I-P-R
H03 =y T VROED(LEW 0.001 1
0.02
H04 |1, 2—YymmxHyy 0.004 0.0004 1
05 |hv=y 0.4 0.001 1
06 |7HXVBEY (2—=FN~FI V) 0.08 0.002 1
HO07 |miEskEe 0.6 0.06 1
H08 |ZRefLiEs 0.6 0.06 1
E-G-H
H09 (Yyma7Eh=Fr 0.01 (% &) 0.001 1
10 [fAses—n 0.02 (% &) 0.001 1
BEFLLTUTILAE
A%y FA 0.008 0.00008 1
HATO ) 0.005 0.00005 1
Zz=baFitr 0.003 0.00003 1
AV TaFAT 0.04 0.0004 1
VA=3=2 2= 7 0.05 0.0005 1
B11
FaEYIK 0.05 0.0005 1 A-I-P-R
BZA=7 %33 0.008 0.00008 1
T2 )THANT 0.03 0.0003 1 % ft RREBAERE L ¥ —HE
sap=ta7=y 0.0001 0.0001 1
Pra=0% 3 0.008 0.00008 1
EPN 0.004 0.00006 1
H12 |BMEREER 1 0.1 1
13 [(AAvyh, w7 Xy 2% (RE) 10~100 5 1 —
H14 |w AV ROBEDLEH 0.01 0.001 1
H15 |GEMERE: 20 0.5 1 A*E+G+H-I-P:R
H16 |1, 1, 1I—N)rmxsy 0.3 0.001 1
A-I-P-R
B1T [AFA—t—T FAT—FN 0.02 0.001 1
E18 |#8% GRe A BAVY AR ) 3 0.2 1
A*E+G+H-I-P:R
H19 |RK#E (TON) 3 — 1
F20 \RRREW 30~200 1 1
H21 ||E 18 0.1 1 —
H22 |pHfE 7.5 — 1
—1BEE kL
H23 [BRHE(FV7VTHR) — 1
WHOTESITS
A*E+G+H-I-P:R
ImLOBATHRENS
H24 |REIRSEMMME — 1
$49530132,0008L F (B 2)
H25 |1, 1—Y/mmxFLy 0.1 0.001 — A-I-P-R
PAREY AORIELT
26 (7A=Y LRUEDLEW 0.01 — —
0.1

WA ROAITEANFK (BEK) TT,




